B.E/B. Tech DEGREE EXAMINATION, NOVEMBER/DECEMBER 2012. 1 MATHEMATICS - 11 MA2161 (Regulation 2008) PARTA-(10×2 =20 marks). 1 Find the Woronskian of y1, y2 of y"- 2y1+y=exlogx. The complementary function is the solution of y"-2y1+y=0. $C.F = (C_1 x + C_2)e^{x}$ $f_1 = y_1 = xe^{\chi}$, y_2 (or f_2) = e^{χ} and $\chi = e^{\chi} \log \chi$ y'= xex + ex , y2 = ex : Wronskian $W = f_1 f_2^{-1} - f_1^{-1} f_2 = \chi e^{\chi} - (\chi e^{\chi} + e^{\chi}) e^{\chi} = -e^{2\chi}$ 2. Find the particular integral of CD2+AD+ADY = 2? Given $(D^2 - AD + A)y = 2^7$ = $e^{\log 2^{\chi}} = e^{\chi} \log 2$ Particular Integral = $\frac{1}{p^2 - 4p + 4}$ $PI = \frac{e^{\chi}}{(\log_2)^2 - 4\log_2 + 4}$ 3. Prove that $\vec{F} = yz\vec{i} + xz\vec{j} + xy\vec{k}$ is irrotational. $\nabla x \vec{F} = curl \vec{F} = \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ \vartheta_{3x} & \vartheta_{3y} & \vartheta_{3z} \\ \vartheta_{2x} & xz & xy \\ -j \begin{bmatrix} \vartheta_{3x}(xy) - \vartheta_{2}(xz) \end{bmatrix} \\ -j \begin{bmatrix} \vartheta_{3x}(xy) - \vartheta_{3z}(yz) \end{bmatrix}$ = ?[x-x]-j[y-y]+k[z-z] VXF = 0 ... F is irrotational.

A. State Gauss divergence theorem.

If \vec{F} is a vector point function, finite and differentiable is a segion R bounded by a closed surface S, then the surface integral of the normal component of \vec{F} taken over S is equal to the integral of divergence \mathcal{B} \vec{F} taken over V. i.e., $\iint \vec{F}$. \vec{n} ds = $\iint \nabla \cdot \vec{F} \, dv$.

Z

5. Show that the function fezz= z is nowhere differentiable.

 $u + iv = \chi - iy$ $u + iv = \chi - iy$ v = -y $\int \frac{\partial v}{\partial \chi} = 0$ $\frac{\partial u}{\partial y} = 0$ $\frac{\partial v}{\partial y} = -1.$ Since $\chi = \chi + iy$, $\overline{\chi} = \eta - iy$ f(z) = u + iv.At all point (x, y), Ux=1 and Vy=-1. Hence C-R equations not satisfied anywhere. Hence f(z)= z is nowhere differentiable 6. Find the map of the circle 121=3 under the transformation w=22 Given 121=3 => x24y2= 9 -0. Given w=22 utiv = 21xtiy) ··· u = 2x , V= 2y =) x = 4 , y= 1/2 _ @ Substituting @ in D, are get $(\frac{1}{2})^{2} + (\frac{1}{2})^{2} = 9$ $u^2 + v^2 = 3b$ which is a circle is w-plane whose centre is at 10,0. and hadius is 136 = 6. Hence | z|= 3 is transformed into |w|=6. 7. Evaluate $\int \frac{z dz}{c(z-1)(z-2)}$, where c is the circle $|z| = \frac{1}{2}$. $\frac{1}{(z-1)(z-2)} = \frac{A}{z-1} + \frac{B}{z-2}$ (= A(Z-2)+B(Z-1), Putting Z=1, A=-) putting z=2, B=1.

$$\int_{1}^{1} \frac{1}{(z-1)^{2}z-2} = \frac{1}{z-1} + \frac{1}{z-2}$$

$$\int_{2}^{1} \frac{z}{(z-1)^{2}(z-2)} dz = -\int_{z-1}^{2} dz + \int_{z-2}^{z} \frac{z}{z-2}$$
Cauchy's integral formula is $\int_{0}^{1} \frac{z}{z-2} dz = \vartheta \operatorname{rif}(2\sigma)_{3}$ to lice on and inside c.

$$\int_{0}^{1} \frac{z}{(z-1)^{2}(z-2)} dz = -O+O$$
Sina $\exists n \int_{0}^{1} \frac{z}{2-1} dz, z\sigma=1$ lies outside $|z|_{2}^{1}$

$$= 0$$

$$\exists n \int_{0}^{1} \frac{z}{z-2} dz, z\sigma=2$$
 also lies outside $|z|_{2}^{1}$
at $z=1$.
The coeff of $\frac{1}{z-1} - \vartheta [1+(z-1)+(z-1)^{2}+\cdots]_{3}$ find the residue of $\frac{1}{2}(z)$
at $z=1$.
The coeff of $\frac{1}{z-\alpha}$ is the Laurent's expansion ob the about a's called the residue of $\frac{1}{2}(z)$ at $z=a$.

$$\int_{0}^{1} \frac{1}{z} \log \frac{1}{z-\alpha}$$

$$\int_{0}^{1} \frac{1}{z-\alpha} \log \frac{1}{z-1} \log \frac{1}{z-1}$$

$$= \int_{0}^{1} \int_{0}^{1} \sum_{z-\alpha} (z-z) \log \frac{1}{z-1} \log \frac{1}$$

16. Find the invoke laplace transform
$$\Re_{\left(\frac{1}{5^{+1}}\right)\left(\frac{1}{5^{+2}}\right)}$$

 $L^{-1}\left[\left(\frac{1}{5^{+1}}\right)\left(\frac{1}{5^{+2}}\right)\right] = L^{-1}\left[\frac{1}{5^{+1}}\right] + L^{-1}\left[\frac{1}{5^{+2}}\right]$
 $= \frac{1}{5}e^{-\alpha}e^{-2L}$
 $= \int_{0}^{1}e^{-\alpha}e^{-2(L-\alpha)}$
 $= \int_{0}^{1}e^{-\alpha}e^{-2(L-\alpha)}$
 $= \int_{0}^{1}e^{-\alpha}e^{-2(L-\alpha)}$
 $= \int_{0}^{1}e^{-\alpha}e^{-2L}$
 $= \int_{0}^{1}e^{-\alpha}e^{$

a (ii) Solve the equation
$$\int_{a}^{b} y = cosec x by the method \mathcal{G} variation \mathcal{G}
Prinametras:
Area $(D^{2}+1)y = cosec x$
Auxiliary equation \mathcal{G} $m^{2}+1=0$ is $m=\pm i$
The complementary function $C \cdot f = C_{1} \cos x + C_{2} \sin x$
Baticular, integral $P \cdot 2 = Pf_{1} + \mathcal{G}f_{2}$ solvers $d_{1} = cos x = f_{2} = \sin x$
 $f_{1}^{1} = -\sin x = f_{2}^{1} = cos x$
Now $W = f_{1}f_{2}^{1} = f_{1}^{1}f_{3} = cos^{2} + \sin^{2}x = 1$.
 $Y = cosec x$
 $P = -\int \frac{f_{1} \cdot x}{W} dx = -\int \frac{\sin x}{r} \frac{casex}{r} dx = -\int \sin x \cdot \frac{1}{sinx} dx = \int dx = -x$.
 $\mathcal{Q} = \int \frac{f_{1} \cdot x}{W} dx = \int \frac{cosx}{r} \cdot \frac{duex}{r} dx = \int \frac{cosx}{sinx} dx = \log csinx$
 $P = -f_{1} \oplus \Delta f_{2} = -x \cos x + \log \sin x$. $\sin x$
The complete solution is $y = C + P + T$. $\therefore y = C_{1} \cos x + d_{2} \sin x - x \cos x + \sin x \log \sin x$
 $P = -g_{1} + \Theta f_{2} = -x \cos x + \log 3 \sin x$. $\sin x$
The complete solution is $y = C + P + T$. $\therefore y = C_{1} \cos x + C_{2} \sin x - x \cos x + \sin x \log \sin x$
 $P = -g_{1} = \frac{f_{1}}{W} dx = \frac{f_{1}}{dt} = \frac{f_{1}}{dt} = \frac{f_{1}}{dt} = \frac{f_{1}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt}$
 $P = \frac{f_{1}}{dt} + \frac{f_{2}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{2}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{2}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_{1}}{dt} = \frac{f_{2}}{dt} = \frac{f_$$$

$$y = e^{t} + c_{1} \sin t + c_{2} \cosh t + \frac{e^{t}}{2} + 1$$
(b)
(b)(b) Solve the quation $\frac{d^{3}y}{dx^{2}} + \frac{1}{x} \frac{dy}{dx} = \frac{12\log x}{x^{2}}$.
Choose $x^{2} \frac{d^{3}y}{dx^{2}} + x \frac{dy}{dx} = (2\log x - 0)$.
Putting $x = e^{2}$ or $x = \log x$ we get $x = D = D = e^{2}D^{2} - D^{2}(D-1) - 0$.
Putting $x = e^{2}$ or $x = \log x$ we get $x = 2D = D = e^{2}D^{2} - D^{2}(D-1) - 0$.
Putting $x = e^{2}$ or $x = \log x$ we get $x = 2D = D = e^{2}D^{2} - D^{2}(D-1) - 0$.
Putting $x = e^{2}$ or $x = \log x$ we get $x = 2D = D = e^{2}D^{2} - D^{2}(D-1) - 0$.
Putting $x = e^{2}$ or $x = \log x$ we get $x = 2D = D = e^{2}D^{2} - D^{2}(D-1) - 0$.
Putting $x = e^{2}$ or $x = 2\log x$ we get $x = 2D = D = e^{2}D^{2} - D^{2}(D-1) - 0$.
Substituting \oplus in 0 , so $got [D(D-1) + D]y = 12z$.
 $\frac{d^{3}y}{dx} = 12Z = \frac{d^{3}}{dz} (\frac{d^{3}}{dx}) = 12Z = \frac{1}{2} = \frac{d^{3}}{dz} - \frac{1}{2}$.
Integrating on botherides \oplus .
 $\frac{dy}{dz} = 12(\frac{z^{2}}{2}) + C$ for $\frac{d^{3}y}{dz} = 6z^{2} + c - \frac{1}{2} = \frac{1}{2}$ dy $= (6z^{2} + c) dz = 0$.
Physics integrating \oplus , we get $y = 6\frac{z^{3}}{3} + cz + c$.
 $\therefore y = \sqrt{2}(\log x)^{3} + c(\log x) + c$.
 $12 \cdot (\Theta(t) \text{ Show that } \vec{F} = (2\pi y - \frac{z}{2})^{2}t + (x^{2} + 2yz)^{2}t + (y^{2} - 2\pi z)\vec{F}$ is into to home.
and $y \text{ for } \text{its scalar potential.}$.
 $\pi x\vec{F} = \begin{bmatrix} \vec{F} & \vec{J} & \vec{F} \\ \sqrt{2}\sqrt{x} & \sqrt{2}y & \sqrt{2}\sqrt{x}z \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} \text{ is into to home.} \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) \\ -\frac{1}{2}\begin{bmatrix}\sqrt{2}\sqrt{x}(y^{2} - 2\pi z)\vec{F} + (\frac{1}{2}(2\pi y - 2^{2}) - (\frac{1}{2}(2\pi y -$

$$\begin{aligned} \overrightarrow{P} &= \frac{\partial \phi}{\partial x} \overrightarrow{1} + \frac{\partial \phi}{\partial y} \overrightarrow{j} + \frac{\partial \phi}{\partial z} \overrightarrow{z} \\ \vdots \frac{\partial \phi}{\partial x} &= 2xy - z^{2} ; \frac{\partial \phi}{\partial y} = x^{2} + 2yz \\ \vdots \frac{\partial \phi}{\partial z} &= \int (2xy - z^{2}) d_{x} ; \phi = \int (x^{2} + 2yz) dy ; \phi = \int (y^{2} - 2xz) dz \\ \phi &= 2\frac{x^{2}}{2} y - z^{2} x + C_{1} ; \phi = x^{2} y + 2\frac{u^{2}}{2} z + C_{2} ; \phi = y^{2} - \frac{\partial z^{2}}{2} z + C_{3} \\ \vdots \overrightarrow{Te} \text{ scalal potential}, \quad \overrightarrow{\Phi} = \frac{x^{2} y - z^{2} z + y^{2} z + C_{2}}{\sqrt{2} - 2xy^{2}} \text{ faten around the rectangle bounded by its lines } x = za, y = 0 \text{ and } y = b. \end{aligned}$$

$$(u) \text{ Writy Given's flucture for } \overrightarrow{V} = (x^{2} + y^{2})\overline{z}^{2} - 2xy^{2} \text{ faten around the rectangle bounded by its lines } x = za, y = 0 \text{ and } y = b. \end{aligned}$$

$$(u) \text{ Writy Given's flucture for } \overrightarrow{V} = (x^{2} + y^{2})\overline{z}^{2} - 2xy^{2} \text{ faten around the } x = za, y = 0 \text{ and } y = b. \end{aligned}$$

$$(u) \text{ Writy Given's flucture for } \overrightarrow{V} = (x^{2} + y^{2})\overline{z}^{2} - 2xy^{2} \text{ faten around the } x = za, y = 0 \text{ and } y = b. \end{aligned}$$

$$(u) \text{ Writy Given's flucture for } \overrightarrow{V} = (x^{2} + y^{2})\overline{z}^{2} - 2xy^{2} \text{ faten around the } x = za, y = 0 \text{ and } y = b. \end{aligned}$$

$$(u) \text{ Writy Given's flucture for } \overrightarrow{V} = (x^{2} + y^{2})\overline{z}^{2} - 2xy^{2} \text{ faten } x = a \text{ fo } a \\ y : o \text{ fo } b \end{bmatrix}$$

$$(u) \text{ for each is flucture in } \int u dx + V dy = \iint_{P} (\frac{\partial v}{\partial x} - \partial y) du dy$$

$$(u) \text{ for any low for } y = 2xy$$

$$(u) \text{ for any low for } y = 2xy$$

$$(u) \text{ for any low for } y = 2xy$$

$$(u) \text{ for any low for } y = -2xy$$

$$(u) \text{ for any low for } y = -2y$$

$$(u) \text{ for any low for } y = (x^{2} + y^{2}) dx - 2xy dy = \int_{P} -2xy dy = -xa(y^{2}) = -a(y^{2})$$

$$(u) \text{ for any low for } y = (x^{2} + y^{2}) dx - 2xy dy = \int_{P} -2xy dy = -xa(y^{2}) = -a(y^{2})$$

$$(u) \text{ for any low for } y = (x^{2} + y^{2}) dx - 2xy dy = \int_{P} -2xy dy = -xa(y^{2}) = -a(y^{2})$$

$$(u) \text{ for any low for } y = (x^{2} + y^{2}) dx - 2xy dy = \int_{P} -2xy dy = -xa(y^{2}) = -a(y^{2})$$

$$(u) \text{ for any low for } y = (x^{2} + y^{2}) dx - 2xy dy = (x^{2} - 2x^{2}) = -a(y^{2})$$

$$(u) \text{ for any low for } y = (x^{2} - 2x^{2}) = -a(y^{2})$$

$$(u) \text{ for any low for } y = (x$$

.

(ii)
$$\int (x^{3}y^{1})dx - 2xydy = \int_{a}^{a} (x^{2} + b^{2})dx = (\frac{x^{3}}{3} + b^{2}x)_{a}^{a} = (\frac{a^{3}}{3} + ab^{2}) - (h^{3}y^{1}dy)$$

BC
 BC
 $Hong BC
 $y = b$
 $dy = 0$
 $T_{b} = -\frac{2a^{3}}{3} - 2ab^{2}$
(iii) $I_{b} = \int (x^{2}y^{1}y^{1}dx - 2xydy) = \int_{b}^{a} 0 - 2(-a)y dy = \int_{a}^{2} 2ay dy = xa(y^{2})^{0}$
 CD
 D
 $T_{b} = D - ab^{2} = -ab^{2}$
 $T_{b} = \int (x^{2}y^{1}y^{1}dx - 2xydy) = \int x^{2}dx = (\frac{x^{3}}{3})^{a} = \frac{a^{3}}{3} - (-a^{3}) = \frac{2a^{3}}{3}$
 $Hong DA$, $y = 0 - ab^{2} = -ab^{2}$
 $T_{b} = D - ab^{2} = -ab^{2}$
 $T_{b} = -ab^{2} = -ab^{2}$$

$$\begin{aligned} \iint_{V} \nabla \cdot \vec{F} \, dv = \int_{0}^{t} (Az - \frac{1}{2}) dz = (4\frac{z^{2}}{2} - \frac{1}{2}z)_{0}^{t} = \frac{A}{2} - \frac{1}{2}z = 3\frac{t}{2}. \end{aligned}$$

$$\begin{aligned} \iint_{V} \vec{F} \cdot \vec{F} \, dv = \int_{0}^{t} (Az - \frac{1}{2}) dz + \iint_{v} + \iint_{v} + \iint_{v} + \iint_{v} (\vec{F} \cdot \vec{F} \, ds) \\ \xrightarrow{A_{v}} y = 0 \quad y = 0 \quad z = 1 \quad z = 0 \\ ds - dyt \end{aligned}$$

$$\begin{aligned} &T_{v} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} (Axz - \frac{1}{v} - \frac{y^{2}}{2}) - \frac{1}{v}yz\vec{F}) \cdot \vec{F} \, dydz = \iint_{v} 4z \, dydz = \int_{v} 4z \, dydz = 2. \end{aligned}$$

$$\begin{aligned} &T_{v} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} (Axz - \frac{1}{v} - \frac{y^{2}}{2}) + \frac{1}{v}z\vec{F}) \cdot (-\vec{F}) \, dydz = \iint_{v} 4xz \, dydz = -4 \iint_{v} \frac{1}{2} \int_{0}^{t} dydz = 0. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} - \frac{1}{2} dxdz = -\iint_{v} dxdz = fxvea \quad ds \quad y = 1 \ dxa\right) = -1. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} \frac{1}{2} dxdz = -\iint_{v} \frac{1}{2} dxdz = \int_{v} \frac{1}{2} dxdz = 0. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} \frac{1}{2} dxdy = \int_{v} \frac{1}{2} dxdz = \int_{v} \frac{1}{2} dxdz = 0. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} \frac{1}{2} dxdy = \int_{v} \frac{1}{2} \int_{v} \frac{1}{2} dydz = 0. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} \frac{1}{2} dxdy = \iint_{v} \frac{1}{2} \int_{v} \frac{1}{2} dydy = 0. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} - \frac{1}{2} dxdy = \iint_{v} \frac{1}{2} dxdy = 0. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = 2 + 0 - 1 + 0 + \frac{1}{2} + 0 = \frac{3}{2}. \end{aligned}$$

$$\begin{aligned} &T_{s} = \iint_{v} \vec{F} \cdot \vec{F} \, ds = \iint_{v} \vec{F} \cdot \vec{F} \, ds \quad Hence. \quad Gauss's \ divergence \ Haeorem \ iv \ verifted. \end{aligned}$$

13.(a)(b) Find the bilinear transformation that maps the points z = 0, i, o onto w = 0, i, a respectively. Substituting given values is Bilinear transformation $(w - w_1)(w_2 - w_3)(z - z_1)(z_3 - z_3)(w_3 - w)(w_1 - w_2)(w_3 - w)(z_1 - z_2)(z_3 - z_3)(w_1 - w_2)(w_3 - w)(z_1 - z_2)(z_3 - z_3)(w_3 - w)(w_1 - w_2)(w_3 - w)(z_1 - z_2)(z_3 - z_3)(w_3 - w)(w_1 - w_2)(w_3 - w)(z_1 - z_2)(z_3 - z_3)(w_3 - w)(w_1 - w_2)(w_3 - w)(w_1 - w_2)(w_1 -$

$$\begin{aligned} \operatorname{Res}\left(\frac{f(x)}{z=-2}\right) &= \frac{\lambda + \frac{d}{dt}}{z=-2} \frac{\frac{x^2}{(z-1)^2}}{z=-2} = \frac{\lambda + \frac{1}{z}}{z=-2} \frac{\left[\frac{(z-1)^2 \cdot 3z - z^2 \cdot 2(\cdot (z-1) \cdot 1)}{(z-1) \cdot t}\right]}{(z-1) \cdot t} \quad (3) \\ \\ R_{2-} &= \frac{9 \cdot x_2 (-2) - (4) \cdot (2) (-2)}{(-2)^4} = -\frac{12 + \theta}{27} = -\frac{4}{27}. \end{aligned}$$

$$(b) \quad \operatorname{Evaluate} \int_{0}^{2\pi} \frac{\sin^2 a}{a + b \cos^2 a} da , a > b > 0. \\ \lambda t &= z = e^{ia} - 2i dz = i \partial^i \partial a = i dz da \quad : do = \frac{dz}{iz} \\ \cos \theta &= \frac{z^2 + 1}{2z} \quad 2 \cdot i \sin \theta = \frac{z^2 - 1}{2z} \\ \vdots \int_{0}^{4\pi} \frac{d\theta}{a + b \sin^2 \theta} = \int_{0}^{2\pi} \frac{-1}{a + b \frac{1}{2}} \left(\frac{z^2 + y}{2z}\right)^{-\frac{1}{2z}} \\ &= \int_{0}^{4\pi} \frac{-\frac{y^2 + z}{2z}}{a + b \frac{1}{2}} \left(\frac{z^2 + y}{2z}\right)^{-\frac{1}{2z}} \\ &= \int_{0}^{4\pi} \frac{-\frac{y^2 + z}{2}}{a + b \frac{1}{2}} \left(\frac{z^2 + y}{2z}\right)^{-\frac{1}{2z}} \\ &= \frac{3}{i} \int_{0}^{2} \frac{b^2 + 2a + b}{b} \cdot \frac{dz}{i} \\ &= \frac{3}{i} \int_{0}^{2} \frac{b^2 + 2a + b}{b} \cdot \frac{dz}{i} \\ &= \frac{3}{i} \int_{0}^{2} \frac{1}{b^2 + 2a + b} dz \\ &= \frac{a + \sqrt{a^2 + b^2}}{a + b \frac{1}{a}} dz \\ &= \frac{a + \sqrt{a^2 - b^2}}{b} \\ &= \frac{a - \sqrt{a^2 - b^2}}{b} \\ &= \frac{a + \frac{a - \sqrt{a^2 - b^2}}{b}} \\ &= \frac{a + i \cos a + b \sin a + b \sin a - a + \sqrt{a^2 - b^2}}{b} \\ &= \frac{b}{a^2 \sqrt{a^2 - b^2}}. \\ \\ &\operatorname{Hene} \text{ by } (auchy \text{ is netitive - theorem, } \int_{0}^{2} \frac{f(z) dz}{c} = \operatorname{Arri} \left[\operatorname{Sum} \theta \right] \operatorname{resture} \\ &= \frac{\theta}{\theta} \right]$$

$$\int_{0}^{t} \frac{4\pi c^{2} dz}{a + b \cos c} = \frac{a}{\sqrt{a^{2} - b^{2}}} = \frac{b\pi r^{2}}{\sqrt{a^{2} - b^{2}}} \qquad (f)$$

$$i = \int_{0}^{t} \frac{db}{a + b \cos c} = \frac{a}{\sqrt{b^{2}}} \left(\frac{\sqrt{a^{2} + b^{2}}}{\sqrt{a^{2} + b^{2}}} \right) = \frac{a\pi r}{\sqrt{a^{2} - b^{2}}} \qquad (f)$$

$$i = \int_{0}^{t} \frac{db}{a + b \cos c} = \frac{a}{\sqrt{b^{2}}} \left(\frac{\sqrt{a^{2} + b^{2}}}{\sqrt{a^{2} + b^{2}}} \right) = \frac{a\pi r}{\sqrt{a^{2} - b^{2}}} \qquad (i)$$

$$i = \int_{0}^{t} \left[\frac{a^{2}}{(s^{2} + a^{2})^{2}} \right] using convolution theorem.$$

$$I^{-1} \left[\frac{a^{2}}{(s^{2} + a^{2})^{2}} \right] = L^{-1} \left[\frac{s}{s^{2} + h} + \frac{s}{s^{2} + h} \right]$$

$$= \cos 2t + \cos 2t + \cos 2t + \cos (2u - 2t + 2u) du.$$

$$= \frac{1}{2} \int_{0}^{t} \left[\cos 2t + 2 \cos 2t (-u x du = \int_{0}^{t} (u_{0} + 2u - 2t + 2u) \right] du.$$

$$= \frac{1}{2} \int_{0}^{t} \left[\cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t}$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t}$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t}$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t}$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[t \cos 2t + \frac{\sin (a + u - 2t)}{b} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[\frac{e^{2}}{a + u^{2}} \right]_{u=0}^{u=t} \right]$$

$$= \frac{1}{2} \left[\left[\frac{e^{2}}}{a + u^{2}} \right]_{u=0}^{u=t} \left[\frac{e^{2}$$

$$L\left[\frac{h}{h}\left(\frac{1}{2}\right) = \frac{1}{1-\frac{1}{\epsilon}} \frac{1}{2\pi h} \left[\frac{e^{-\frac{\pi h}{2}}}{e^{\frac{\pi h}{2}+w^{2}}}\right] = \frac{w\left(1+e^{-\frac{\pi h}{2}}\right)}{\left(1+e^{-\frac{\pi h}{2}}\right)\left(1+e^{-\frac{\pi h}{2}}\right)\left(\frac{1}{2}+e^{-\frac{\pi h}{2}}\right)}$$

$$L\left[\frac{h}{2}\left(\frac{1}{2}\right) = \frac{w}{\left(e^{\frac{\pi h}{2}+w^{2}}\right)\left(1-e^{-\frac{\pi h}{2}}\right)}{\left(1+e^{-\frac{\pi h}{2}}\right)\left(1+e^{-\frac{\pi h}{2}}\right)\left(\frac{1}{2}+e^{-\frac{\pi h}{2}}\right)}$$

$$\left[\frac{1}{\epsilon}\right] = \frac{1}{\epsilon} \frac{1}{\epsilon}$$

$$consider \frac{5s+2}{s(s^2-3s+2)} = \frac{5s+2}{s(s-1)(s-2)}$$

$$\therefore \frac{5s+2}{s(s-1)(s-2)} = \frac{A}{s} + \frac{B}{s-1} + \frac{C}{s-2}$$

$$\therefore 5s+2 = A(s-1)Cs-2) + Bs(s-2) + cs(s-1)$$

$$Put s=0, \quad \vartheta = A(-1)(-2) + B(0) + C(e)$$

$$\frac{a}{2} = 2A \qquad \therefore \boxed{A=1}$$

$$Put s=1, \quad \forall = A(0) + B(-1) + 0$$

$$\therefore \boxed{B=-7}$$

$$Put s=2, \quad 12 = A(0) + B(0) + cl_2(1)$$

$$12 = \vartheta c \qquad \therefore \boxed{0=6}$$

$$\therefore \varkappa = L^{-1} \left[\frac{1}{s} + \frac{-7}{s-1} + \frac{6}{s-2} \right]$$

$$\propto = t^{-1} \left[\frac{1}{s} \right] + t^{-1} \left[\frac{-7}{s-1} \right] + t^{-1} \left[\frac{6}{s-2} \right]$$

$$\therefore \chi = 1 - 7et + be^{2t}$$

.

6

١